_ _ EALCBHERSLIVAOHNTIH—BR (SFER)  FrhooE3a*kBsa
BT 4 HEH 5 E:S &t BT 4 HEH 5 X it BT % HEH 5 S it
#HE1TH 162 175 204 379|%EI3TH 368 468 483 951 |ERY 7 E1TH 143 137 152 289
#$B2TH 119 137 140 277|%H14TH 213 284 291 575|mR~7 E2TH 223 249 276 525
#HEISTH 161 157 198 355|s=HT 320 441 448 889|ER~7 E3TH 78 78 104 182
E=HH 273 238 310 548 | 3P & W ET 550 597 708 1,305|AEE® £ 342 477 507 984
NBET 487 523 587 1,110 FEK LRT1TH 221 184 162 346|HEFA/K 174 231 264 495
AET 208 226 258 484| P12 E ERT2T B 106 121 108 229| HAREF 5 185 260 278 538
JTHET 232 279 285 564| P12l LET3TH 366 395 426 821| B A 377 546 582 1,128
55 T 280 331 343 674| Ry E1TH 332 370 409 7719| BAREFEFO 366 518 545 1,063
FEAET 317 353 390 13| R E2TH 224 292 270 562| HAREFdE £ 796 1,172 1,161 2,333
EM1TH 773 913 871 1,784| R BE3TH 266 305 321 626| HAREPHE H 711 887 936 1,823
EW2TH 502 522 429 951| Ry E4ATH 190 220 255 475| BB BF BF < HhjEk 1,494 1,702 1,819 3,521
WE1TH 153 198 167 365| Ry ES5TH 97 110 121 231 |RE 539 715 750 1,465
WE2TH 496 541 543 1,084| R EEE 0 0 0 O|RERDE 962 1,250 1,258 2,508
WE3TH 219 173 247 420| T RAT 647 795 832 1,627| REPDE 428 604 620 1,224
FEE1TH 223 211 238 449| R HEE 206 204 249 453| REFEDE 585 819 843 1,662
FiEB2TH 1,011 1,140 1,250 2,390| FIRET 170 196 225 AN RIEHFREEE 309 303 428 731
FEE3TH 363 401 390 791| R R IRAT 146 117 179 206|REFE—1EE 237 240 297 537
FEB4TH 206 249 258 507| B HET 325 401 406 807| L Z &L 122 176 179 355
KEHET 271 284 332 616|#E/F AT 820 908 930 1,838| £ 2 B3 H35 87 120 128 248
KHT 116 105 120 225| TR ErAT 148 162 176 338| L 2 &R 128 204 190 394
Ea) 171 161 193 4 |EBEPREE 451 334 507 841| Lz L+ 152 224 216 440
KEE1TH 247 272 283 555|#8 /R 652 713 781 1,494| £ Z B eh &t 344 497 503 1,000
K#FE2TH 312 379 385 764|881 TH 163 181 192 31| L2 BT 271 402 409 811
LtE1TH 355 369 394 763|#88/H2TH 354 454 483 937| L Z 4R 33 56 53 109
LHT2TH 418 415 466 881|#8/E3TH 171 203 236 439 | R 987 1,255 1,317 2,572
+EI3TH 304 256 300 556|#8/H4 T B 338 413 445 858|FEM1TH 157 175 180 355
HiEE1TH 63 95 97 192|#88/F5TH 226 289 291 580($f=ZM2TH 351 440 424 864
TiHE2TH 159 190 214 404| TRE 213 249 261 510(37Z#W3TH 630 554 747 1,301
HiEEITH 81 88 109 197| FTEE1TH 159 178 169 347|FEFEA 452 551 579 1,130
miGmE1TH 340 370 387 57| FTEE2TH 104 132 135 267 |FE PR R ET 174 228 255 483
hi5fE2TH 117 144 157 301|TRESTH 570 636 700 1,336 | A2 FH FE AT 510 553 610 1,163
miEE3TH 383 290 404 694| FTEE4TH 61 63 82 145|th 228 238 291 529
hiEE1TH 175 194 199 393|TRESTH 275 311 325 636| KK 415 427 451 878
miEE2TH 59 86 86 172| FTEE6TH 84 96 85 181| KO %A 1 1 0 1
hi5#E3TH 3 4 7 1M|EEE 1,142 1,418 1,470 2,888|YALSEFEI 140 119 21 140
SWME1TH 356 350 388 738 1,462 1,784 1,867 3,651|YALSTERM 239 144 97 241
aME2TH 568 664 787 1,451 | RGs EEE 46 53 51 104| RN Z= &AL 0 0 0 0
EMAE1TH 321 371 403 14| RE1TH 0 0 0 0
=SifE2TH 268 366 399 765|#EE2TH 387 524 531 1,055
=iE1TH 235 285 288 573|#EE3TH 23 34 41 75
BHWE2TH /Al 86 86 172 Z1TH 196 233 266 499
=FE3TH 250 275 325 600|;&2T H 191 230 242 472
=dt1TH 251 281 318 599|i#3TH 486 552 602 1,154
adt2TH 334 340 336 676|&4TH 293 329 359 688
hfT1TH 376 413 408 821| AFESEZE 245 247 196 443
T2 T B 221 221 221 A42|1E FHHT 2 1 1 2
HFBT3T B 160 190 164 354 | AT 1 1 1 2
hBT4T H 94 94 98 192EEHE 894 760 945 1,705
ZEmT1TH 281 355 403 758| 1L S & BT 299 291 351 642
ZmT2TH 351 462 480 | RIEHE 177 193 229 422

= 5 47646 49,246 52,600 701,904




